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1. Read the following statement and answer the
questions.
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2. Choose the correct translation out of A and B.
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A: My mother is now going shopping.
B: My mother has now gone shopping.
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A: 1 was not married at that time.
B: At that time, I wasn’t going to get married.
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A: The dog is seated on a chair.
B: The dog is going to sit on a chair.
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A: I'm coming to a friend’s house now.

B: I'm at a friend’s house now.
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A. I won’ t call now. Because I am on the bus.
B: I won’t call now. Because I'm getting on the bus.

3. Answer the questions.
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